0
% 0°p69 = °A3J1
mv 21°86+802 °l1°A°d

END
ONSTRUCTION

STA. 207+00

™
4

694.84

104

= 208+46.12
ELEV. =
vC =

Pl
K

ZL°p6+20Z2 °J°A°d

167 (60+ MPH)

L'v69

209+00

6 V69

¢ 569

208+00

60°969 = °A313

MONT VER(EION DRIVE

PEACHAM ROAD

GE°SI+20Z °*L1°A°d

L°S69

02°969

= 697.03
197
29 (35 MPH)

= 206+16.85

Pl
ELEV.
vC =
K =

682.95

90
22 (30 MPH)

= 203+76.43

Pl
ELEV.
vC

K =

¢

1 969

86 °S69

207+00

6569

00 °00+60¢

68°r69

8°r69

k6°269

206+00

92°169 = °*A3713
GE°81+G0Z °*J°A°d

Q

L°Z69

61 °069

6 689

205+00

L€ °LZ2+90<¢

5=
o
%
'3

92°189

N 65°589 = *A313

’// be12+p02 °L°A°d

6989

£2°pr89

\

G €89

£2°089

204+00

\
/‘
Gp°8L9 = °A313

WINDSOR WAY

RIPPLEROAD

WHITE OAK ROAD

STA. 104+50

YIELD ROAD/ILAKESHORE DRIVE

Ep°LE+€02 °J°A°d

$°6.9

L €GS9

\

0°8L9

L£°0L9

203+00

9°¢€L9

L€ °G99

L * 199

L¢ °099

202+00

P <99

L€ °GG9

NH ROUTE 28

¢

67,59

201+00

o

647.

639.3

28

o

=,

6.0

. &3

o

Di

v
517 =]
a2

101+00

101 +66. 30
o m H44,24

645.02

637.7

642.84

637.7

102+00

260

YIELD ROAD

END
CONSTRUCTION

N,
5

NG

638.00

641.57

638.

102+96. 30

vC

|h>m
o

641.

26 (25 MPH)

‘-
|
Pl =
ELEV
|

641.

O

103+00

—
K

641.91

643.4

eVoT. 104+286.30

FREY 1 g B dP

S,
~(

v (PP

643.52

646.1

104+00

645.99

649. 3

225

105+00

LZ°99+p0<

— pG°L0+£0<

R = 820.68°

—— £0°2p+00<¢

00 °00+00¢

— 100+90. 11

R = 400’

651.49

653.3

|
105+55.97

vC
28 (25 MPH)

ELEV.

Pl

658. 1

K

664.0

106+00

oTe 106+68.417

ELEV., = 666,49

670.6

107+00

105+33.77

242.3°

R =

107+00.00

‘hO:BOF YHhEA S
I

£G°0p9

WHITE OAK
ROAD
¢

06+L10€ °*D°A°d

b*LEO

L1°8¢9

308+00

188.12"

(

0°G¢9

¢G°12+80¢

R =

*02+L10¢

.h.>.m

18°G¢€9

= 306+42.99

Pl

£2°9¢9 =

632.84

l*PE9

0L°'pE9

307+00

R = 450.78"

156

A%

LL°0€+L0¢

17 (20 MPH)

80°G€9

ELEV.
vC
K =

*A313

N

66°p9+S0E °J°A°d

¢'G¢9

68°9¢9

306+00

n
o)

5:9¢9 |

92°8£9 =

*A313

e

bE °81+G0E

.h.>.m

06°8£9

= 639.79
10 (20 MPH)

304+83.34
10

Pl
ELEV.
vC

K =

2

o
"
o~

‘ b °8p+p0E °IJ°A°d

0°6¢9

66 °8¢9

305+00

0°6¢9

08°L£9

65169

bL°LE+90E

— 06 °0p+S0¢

R = 374.86"

GZ°LE9 =

*A3713

02°LL+£0€

.h.>.m

Lb *9¢9

304+00

635.82

120
20 (30 MPH)

Pl = 303+17.20
ELEV. =

VvC =

K =

BEGIN
CONSTRUCTION
= 621.09
41
8 (20 MPH)

= 301+44.48

STA. 302+30
Pl
ELEV.
vC =
K =

1 *9¢9

B8°£€9

' 0L°0£9 = °A313

6°¢¢9

60°0€9

303+00

P*0¢&9

8°G<9

80°06+£0¢

p8°229 = °A313

\

ﬁ\

B6°v9+10€ °L°A°d

302+00

82°819 = °A313
6°€2+10€ D°A°d

y 90°G19 = *A313
> Esr-00+ ro1 =t a—

609.57

= 300+60.45

Pl
ELEV.
vC

K

GL°L09 = °A313
Gp°02+00€ °*J°A°d

\

o

80
10 (15 MPH)

P 129

|
4
D29=5%

N§L

301+00

ON

1%

(o)
U]
O
(X«

300+00

02°6L+10¢

IR = 74.71"

— L9°G6+00¢

00 °00+00¢

STA. 51+00

END
CONSTRUCTION

69°bb+1IS °L1°A°d
86°289 =

29
22 (20 MPH)

51+30.19
. = 683.23

L+1S °*JIA°d

%3

8¢ *96+0S
LL°189 =

.h.>.m

8E€ °GL+0S °J°A°d

682.45
4 (15 MPH)

3.19%

21

= 50+85.88

Pl
ELEV.
vC

K =

51+00
R = 991.35'

00°LG+ 1S

00 °00+06S

WINDSOR WAY

STA. 42+20
END
CONSTRUCTION

1.31%-0.21%

RIPPLE ROAD

BARNSTEAD 14121E

_1 ° 69%

50+00

089

43+00

¢ 089

£1L°6.9

l*6.9

P8°9.9

42+00

69°€.9 = °A313

9°9.9

—56—-C¢l9

6°GL9

G699

41+00

X-A001(174)
PROFILES

L *<L9

18°L99

50' HORIZONTAL

SCALE

10' VERTICAL

;1||
1

J ©bJ3J

40+00

00 °00+€p

1513.95°

R

— 98°Gl+2b

4.6_5'

&
N

R

— 19°pO+1LPb

00 *00+0p

11/24/2010

:
A~
>
2
&
=
—
g

SUBJECT TO CHANGE

DATE

0°L6+£S0S °L°A°d

= 695.78

219
35 (35 MPH)

= 5052+87.55

—\

Pl
ELEV.
vC

K

6¢ °889 =
50°8L+ 160G °J°A°d

END

STA. 5049+50
CONSTRUCTION

HORIZONTAL CURVE DATA

3G °86+Lp0S °L°A°d

19°6S59

659

8S°9S9

8999

LL €S9

ARASY)

0Z° 1S9

¢

Z°6v9

98°8p9

WHITE OAK ROAD &
PEACHAM ROAD

HORIZONTAL CURVE DATA

S°9v9

9L°9p9

O*rpr9

88°kb9

ARAA

P EP9

0°Lpr9

£€8°Lb9

630.72

950
108 (50 MPH)

= 5043+23.56

1 *6¢9

S9°0p9

Pl
ELEV.
vC

K =

¢ lp9

0L°6£9

8°8¢9

86°8£9

P G¢9

06°8£9

P re9

PC°8€9

6°¢¢9

22 °8¢9

c"¢¢9

£h°8€9

6°¢¢9

L8°8¢9

|

L°CE9

GG 6£9

L *€¢9

Sk °0p9

‘V\ 9 = °*A313

8€0S °*J°A°d

ZPre9

8k Lb9

6°G¢9

5045+00 5046+00 5047+00 5048+b0 5049+00 5050+00 5051+00 5052+00 5053+00 5054+00

5044+00

5043+00

5040+00 5041+00 5042+00
R = 954.93°

5039+00

5038+00

00 °00+SS06S

—1— L9°10+8r06S

16°2Pk9

1 *8¢9

PGS EP9

/68°cv9 = *A313

 p8+9£05 L°A"d

L*LlP9

0S°pb9

Ll P9

8L°Sbk9

8°9v9

8S°Gh9

< 8V9

0L°Sk9

648.48
450

9°8r9

2G6°Sb9

= 5034+59.68
87 (50 MPH)

Pl
ELEV.
vC =
K =

0°8r9

90°Spk9

9°9r9

Seds

(

HORIZONTAL CURVE DATA

NH ROUTE 28

HORIZONTAL CURVE DATA

HORIZONTAL CURVE DATA

STA. 5012+00
BEGIN
CONSTRUCTION

l*SP9

LZ°Eb9

S°¢p9

G6°Lb9

6b°Lb9 = °A31]
B9 "PE+ZE0S °*IJ°A°d

0°<pk9

L °0b9

S*0v9

98°8¢9

’ 6Z°8£9 = °A313
G°O0E+1€0S °*L°A°d

6°8¢9

ZE°LE9

¢€°LE9

06°GS£9

G°G¢9

8G°pE9

B ¢¢9

BE°€€9

G°2¢9

82°2¢9

P1¢9

LE°LE9

6°0¢9

bp°0€9

9°0¢9

69°629

¢°0¢9

S0°629

Z°0¢9

5029+00 5030+00 5031+00 5032+00 5033+00 5034+00 5035+00 5036+00 5037+00

5028+00

BG*PI+LE0S

623.80

930
222 (60+ MPH)

AT
|
5026+65.53

26°829

Pl
ELEV.
vC =
K =

6°6<9

L1°829

9°6<29

5027+00

08°L29

5026+00

P 6<9

29°129

0°6<9

5025+00

pG°LZ9

INIO
MO

L 829

8G°L29

P *8<9

ZL°129

1 *8<Z9

66°L129

0°8¢9

9¢ 829

p8°829 = °A313

2829

G8°829

£€G°00+220S¢ °J°A°d

L *6<29

6¢ °629

P *0€9

£6°629

L°1€9

Lk °0£9

L°2€9

10°1€9

6°2¢9

9G°1¢£9

0°<€9

01°2¢9

P *0€9

p9°2£9

G829

BL°€E9

L *L<Z9

ZL°EE9

L°9Z9

LZ°PE9

< L<Z9

18°PE9

L 89

R = 2083.48°

5018+00 5019+00 5020+00 5021+00 5022+00 5023+00 5024+00

5017+00

¢8°p8+9206

— L1°€6+2206

1G°€2+9106

GE°GE9

9°0¢9

68°G€9

9°2¢9

£€ph°9€9

=1.08%
‘

P re9

86°9¢9

6°G¢9

26 L9

0°L€9

90°8¢£9

6°L¢9

09°8¢£9

G°8¢9

bL°6£9

1 *6¢9

69°6£9

9°6¢9

Z°0v9

8°0V9

5016+00

5015+00

5014+00
3274.05'

R =

5013+00

5012+00

¢°lp9

6°LbP9

b k9

6°ZV9

P er9

5010+00 5011+00

5009+00

R = 4910.93°

0L°pbb9 = °A313
80°L€+100G °L°A°d

NGYD29

Il 5P >2

5008+00

5007+00

b9 °28+01065

00 °00+ 1006

HORIZONTAL CURVE DATA




